RA - BV B W

LTI

1.8 =

(FR24F12RT—2%H 5)

(2 %)

(ERER) BAEE - EREEE,

PEMBORR[IGETHE VB S LN S, THEZFVDORLIA5N B,
HAERTHLEEVOEHEELE STV,

{ERI+EIR

(1) HE - FBRE
(RBUINTIEERTEE)

WEEHUEORBANFEE (%)

O E I SRER

Sz ot

2

1

0

-1

-2

3

YN 1 1 m v

11 12

BN REREEER [EERSSME AR,
@ B B (BEMKRAEER)

190 @

0.93
1.00 O/o,_-o—o—o e eyl
0.80
0.60
0.40 v I I o WH 7 8 9 10 11 128

1 12

B BESBE Fﬁ%’ﬁ"i%ﬁﬁnﬂ wizE [HEhRE]

(3) &EHMO (EEEXR
110 [ —o— EiESEN) = SRR () @710
105 5

| FUET UOUDE

GEEEIFH)
HETEBUROFIRBERIESE (%)

w0 | = smaz

40 F
20 p

0

-20 F

—40 L

11 12 12

EiXEE [REE TR RERE]
(FERRER)

500 ()
4.5
4.0 =
3.5 PO 47— & DI
B'OIV.I.]I.I[I.IVEU{ .7.8.9.10.11.12}5!.
11 12 12

(TEEEEED

110 [ —o—#miEs(ER) = NHERUEGH) 10

8 P P 1 z

90

85 15
0 ’ 80 20
1 I o N# 7 8 9 10 11 12R v I I o N4 7 8 9 10 1 124
11 12 12 1 12 12
CAEERR. EEEEE H2005F=100 2.5&%#HA IRFE B hEREEERS [LIEEESHM]
(4) SRR
—o— 2EYE  -o0- WEE - hE# 2 REBS|
40
?‘A\\D——ﬂ’/’n\\ ]
20 "‘ S
—— \. a
0 Y
WW \:\ ad10
-20 N A2
© \ LS o A15.6
\;\Z‘ w\ﬁ%&ﬁ_
\
_60 A
\ A /A/ 460.0
-80 T > AG0.2
. = A60.3
) N N N\ ) Y N \% o N N \% ) S N \% » S N \2 H N \% »H S N
‘ &3\ Qfe\ Qic\\ Q\ é\\ 6\\ Q\\ @\ S"\ §>\ 6*’\\ @\Q @\Q @\Q @\\ \Q\Q \Q\Q \Q\Q \Q\\ \\\Q \\\Q \\\Q \\\\ \(\>Q \w\m &Q \r\>\ *,(\”Z
& FEREESS F/R)

FEREEESR

#w® 2013.3

29



